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2023
GEOGRAPHY
(Honours Generic/Regular)
Paper : GGY-HG-2016/GGY-RC-2016
(Human Geography)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions :  1x7=7
weq od OeT foral ¢

(@) Who is known as the founder of modern
human geography ?
wigfAe TR gl e 3 I T AW
(b) Who put forwarded the concept of “Neo-
determinism” ?

“ry R GIRANCH! (P S5IRBTRRe 2
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(c) Kyrgyz are found in which part of the
world ?
Raiier 51e1 7R IFCH! TS PRI P2
(d) In which continent Mongoloids are
mainly distributed ?
LTI T (I TIPS LA CAART I 2

(e) What is the present growth rate of world
population ?

6T ARFT SR AR 27 R
() About what percentage of the total
world population is found in the
developing countries ?
AT TPRYR R oI SREPiel
(PITIR® (PR A2
() Name the largest state of North-East
India.

BET-7 OO IHIRSLT TIeT eI A i 2

Answer the following questions :  2x4=8
S Syl Tes faa ¢

(@) Which are the sparsely populated
regions of the world ?

R GERIE 1 41 et S et (AT ?

(b) What do you mean by a developed
country ?

Tre (™ 3T 3 g@e
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(c) Mention two characteristics of a
rainforest area.

IRy S 7o Y S [
(d) What do you mean by urbanization ?

T e 7 @ e

Write short notes on : (any three)

5x3=15
@R feerea fofbrT 53 GOt ol
(a) Concept of Possibilism
ISIARMI LI
(b) Concept of Space in Geogfaphy
TIRTREINS e 4=ell
(c) Man-Environment relationship
TR GUNETS MR SIE AR T
(d) Optimum population
SR SR

() Human Development Index

AR BT PIF
Answer any three of the following :

10x3=30-
o [ fofbt emix e o ¢

(a) “Human geography is the study of
changing relationship between the
unresting man and the unstable earth.”

Explain the statement.
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ARITETAE FH=oE S B IS it 11|

(b) Describe the pattern of distribution of
human population in the world with
examples.

TS AT TR Rew 7ot TneeR
3 7|

() Define Human Geography and discuss
about its different branches. 2+8=10

T SLAIIET kT {7 i 2 IR I
STl 341 |

(d) Discuss the causes and consequences
of migration.

RGN PRI TNIF FANTEIRIET ANCTHA F |

(e) Define human settlement. Describe
different types of human settlement
with diagrams and examples. 2+8=10

et e fral | oa o SrimiR Agwe
Rfon oo Taefer [Reed War

() Describe the role of man in degradation
of environment.

TR T I @ AR Rive sRg
I 1
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